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QUESTION 1

A company needs to replicate their VMs to a remote site and must have an RPO of less than 1 hour. When creating a
protection domain, what should an administrator do to meet this requirement? 

A. Enable Async Replication with an RPO of 60 minutes 

B. Enable Near-Sync Replication with an RPO of 15 minutes 

C. Enable Entity Sync on the designated VMs 

D. Enable Availability Zones and send the VM to multiple targets 

Correct Answer: A 

Explanation: Ref: https://portal.nutanix.com/page/documents/details?targetId=Web- Console-Guide-Prism-v5_10:sto-pd-
guidelines-r.html 

 

QUESTION 2

An administrator is concerned that Prism will be inaccessible if Active Directory is unable to process logins. Which
method should the administrator use to access the cluster in the event of this type of outage? 

A. Manage the cluster by using the "nutanix" user on the Prism leader CVM 

B. Create and use an emergency local account on the cluster 

C. Deploy an Active Directory server locally on the cluster 

D. Manage the cluster remotely by downloading ncli to a remote workstation 

Correct Answer: B 

 

QUESTION 3

An administrator needs to make sure an RF2 cluster can survive a complete rack failure without negatively effecting
workload performance. The current cluster configuration consists of the following: 

30 nodes: distributed 10 nodes per rack across three 42U rack Each nodes is configured with 40TB usable storage all
flash (Cluster Total 1.2 PB Usable) Current cluster utilization is 900TB storage 

Which configuration changes should be made to make sure that the cluster meets the requirements? 

A. Expanse the cluster by adding 3 additional nodes per rack, 9 nodes total. 

B. Expanse the cluster by adding 2 additional nodes per rack, 6 nodes total. 

C. Expanse the cluster by adding 9 nodes to a new 42U rack 

D. Expanse the cluster by adding 8 nodes to a new 42U rack 
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Correct Answer: A 

 

 

QUESTION 4

An administrator needs to create and start five new VMs for a Data Analytics Project (OLAP). The VM Profile is as
follows: 

vCPU:4 vRAM: 64 GB vDisk: 1.5 TB 

Each of the four nodes of the Nutanix cluster has the following: 

24 vCPU. 20% overall usage 192 GB RAM, 60% overall usage 2xl920GBSSD 4x 2 TB HDD 

At cluster level, there is a single RF2 container that is 30% utilized and has an extent store capacity of 13.5 TB. 

Which component requires administrator attention? 

A. Physical RAM, because it is not enough to power on all of the new VMs. 

B. Physical Cores, because they are not enough to power on all of the new VMs. 

C. Storage, because the capacity is not enough to create VMs. 

D. Flash Tier because it is not enough to accommodate the workloads. 

Correct Answer: A 

 

 

QUESTION 5

A system administrator needs to shut down an AHV node in a Nutanix cluster without causing service disruption. The
administrator checks data resiliency and verifies that the cluster can tolerate a node down. Which three steps should the
administrator perform next? (Choose three.)

Hot Area:
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Correct Answer:
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